Fy Zof 104 10714 ¢] £7} A3 71= 10%0] S0

=
HUojA] 7FE 1738 Hot EIg th-g ohA ¥ E 18-S

g 4] W57} UEolE 6 9] ob47} g SHE-L



the 193 2o] AB = AC, /BAD —
0

(CAD, /ABE = 12

9

@ 10° @ 20° @ 30°
@ 40° 3 50°

Q



A BC//

a4

©
=

ot

3.




S F, QB 62 o) u Wo| §4 A%} T
H5} 1 Pt B Aot A9 £

— = .

D 12 74 @ 16 71#] @ 20 7HA
@ 24 717 ® 28 7174

o



5. AB=AC 2l o] 5HHAY A BC =BD7t H=% A D & ¥ AC
Qo okt zx o 2712

A

@© 40° @ 45° ® 50° @ 55° ® 60°



6.

o 2193 22 AABC ¢4 AB = AC 4
o, 2x & 2717

65°

@]

D 45° @ 55° @ 65° @ 75°

® 85°



7.

o2 IHOA x4y O FH2?

@D 15 @ 16 ® 17



8. oI MHM, N, P, Q& 27 AB, AC, DB, DC

PQ =5cm ¢ o, MN ©] Zo]&=?

@ 3cm @ 4cm @ 4.5¢cm

@ 5cm ® 5.5cm



lo

2 I o] shde & mf ool A FEof Bt 2 &Eo]

=1
e e ol A}

9. o
7t

o o




10. = F oABCD7 4 Bt o=t & & gle 227

® AB=DC =4cm, AD=BC = 6cm

@ (A =110° /B="70° /D ="170°

® OA =0C, OB = OD(%, O+ F tZH41 9] wHoltt)
@ E//E,E:mzélcm

® AD//BC, AB//DC



11, o= 2382 1A = 90°%1 AABC O] FHA1F Aofl A Bl e 4419

e D en ), b F 24 g A2

A
B b —°C

@ AB° =BD xBC @ AC° =ADxBC

® AD = BDxDC @ ABxAC = BC x AD

® AABD @ ACAD



3|
, ™

o,

12, o% €9 Aﬁ%C oA A D, Et 2tz AB 9] A5 EHo]
F, G = ZtZ} AC 9] 4524 o|tt. oDEGF ¢ Yol7t 9cm?
OEBCG 2] {o]+&?

1o K

2
@ 1lcm @ 12cm? ® 13cm?

@ 14cm? ® 15cm?



13. a, b, ¢, d o] ZAE AIA 22 H]DE W, cadb = B WA}

O 14 HA @ 15 ¥4 ® 16 HA|
@ 17 HA ® 18 HA



14. thg 193 Zo] AxAG ol 6719 A A, B, C, D, E, F7 9k
o5 F Al g olo] Bs 4 it A7l =E B XA
A
B C D Bk F
® 5744 @ 971 @ 1071

@ 20 714 ® 30 744



15. & Azols
AC, EDLAB < 1, AD |
Ehiw?

@ 2a @ a+2

@ 10 -2a ® 10-a



